R FR25FE8ADEFEAN

A0 110,556 (-31)

5 53,625 (-37)

Z 56,931 (+6)
HFEE 44,048t (+20)

x () AFRETAL
XA 25F8H1HRE

Rl AOZX Frk2568H1H

BEAOGR FEERSRALD (EEREAGIRCEFRSNIZALD) &E@E —BHUEIEA.

g AR 18R Si% 18R ik 1R | MR | IR
JE\ERH] 424 -3 185 -2 239 -1 183 -2
ELH] 216 1 100 1 116 0 77 1
E=H] 136 0 62 0 74 0 63 0
KEH] 38 0 15 0 23 0 18 0
WNEL] 12 0 4 0 8 0 5 0
] 85 -1 36 -1 49 0 25 -1
Eayestil] 50 0 7 0 43 0 7 0
P L ] 495 -12 264 -8 231 -4 283 -7
VR H] 27 2 15 1 12 1 17 1
1 H] 198 3 86 1 112 2 93 3
= =[] 177 1 95 0 82 1 95 0
] 228 -1 114 -1 114 0 121 -1
ZH] 153 -4 69 -2 84 -2 66 -1
& SHT 482 -2 241 -1 241 -1 235 0
FFrH] 81 2 37 0 44 2 47 2
1GRaH] 112 0 53 0 59 0 41 0
FASEH] 167 1 81 1 86 0 95 1
—&T 0 0 0 0 0 0 0 0
NET 107 -1 52 0 55 -1 51 -1
T&ET 137 -2 65 -1 72 -1 54 -1
N&ET 88 4 40 2 48 2 38 1
NET 163 3 66 1 97 2 33 1
T&ET 251 -2 93 -1 158 -1 119 -2
1ok ] 365 1 159 0 206 1 189 1
SiEH] 2,594 6| 1,264 4 1,330 2| 1,083 3
RFRE] 3,485 12 1,678 8| 1,807 4 1,374 3
] 1,583 4 776 -3 807 7 579 2
B a)=<tiil) 1,810 5 926 -1 884 6 797 5
FrERHE] 427 4 196 2 231 2 182 1
FHATHT 3,657 5( 1,830 1] 1,827 4 1,614 3
LLAEHT 2,392 -13] 1,139 -6 1,253 -7 979 -8




VEIRH] 2,045 13 979 6| 1,066 7 644 4
Ll e 4,856 1 2,378 -5| 2,478 6| 1,894 -4
MEigEs] 2,170 2 1,067 6 1,103 -4 861 3
EBZRHE] 9,489 -8 4,630 -12| 4,859 4 3,627 -10
=2kH] 4,019 11 1,965 11| 2,054 0| 1,523 4
[ EHET 1,159 -1 596 -1 563 0 483 0
EREFHIER — 2,600 -11] 1,238 -6 1,362 -5 897 -1
EREFHTERS) 1,853 7 893 6 960 1 665 4
EREFHT PG 7> 592 -2 292 -1 300 -1 213 1
Er7KH] 5,665 -4 2,680 -5 2,985 1 1,953 -4
g lii) 162 -6 156 -6 6 0 153 -6
ERH] 21 0 11 0 10 0 11 0
ETRE—TH 393 0 207 1 186 -1 176 1
ETREIZTH 292 -2 127 1 165 -3 136 -3
ETREI=TH -1 0 -1 0 0 0 -1 0
ETREMTH 0 0 0 0 0 0 0 0
ETREATH 232 -4 110 -3 122 -1 77 0
rES 0 0 0 0 0 0 0 0
TEE—TH 418 0 197 0 221 0 192 0
TEEZTH 725 -1 348 -1 377 0 337 1
TEE=TH 308 -1 152 1 156 -2 139 -2
WERAT—TH 477 -9 224 -2 253 -7 227 -4
RERE—TH 686 -1 316 -2 370 1 327 -1
EE=TH 408 -4 204 -1 204 -3 215 -3
EMPRET—T B 321 -1 134 -1 187 0 147 -1
Gl = 502 5 238 2 264 3 242 2
JtFEILE—TH 178 -1 82 0 96 -1 85 -1
JtFEILETZTH 405 0 188 0 217 0 180 0
AR —TH 277 1 146 0 131 1 146 0
AR —TH 460 3 236 0 224 3 247 -1
FEH—TH 132 0 62 0 70 0 57 0
FZHZTH 334 1 154 1 180 0 158 0
[REEIH 316 4 148 2 168 2 222 3
wFEE—TH 123 -1 59 -1 64 0 62 0
RFEE =T H 268 2 113 1 155 1 97 1
RAEI—TH 455 -2 209 0 246 -2 174 -1
FREIZTH 378 -6 175 -4 203 -2 158 -1
RREI=TH 514 -9 244 -3 270 -6 226 -2
FRAFETI T H 403 -2 180 -2 223 0 163 0
FRETRTH 597 4 260 1 337 3 222 2
FuRE—TH 213 2 117 1 96 1 102 0
FUEEI”TH 376 -1 217 -1 159 0 215 -1
HIIEEE—TH 459 4 224 3 235 1 216 2




HIGEAI”TH 318 -3 149 -1 169 -2 129 -1
BRE—TH 154 -4 79 -2 75 -2 82 -1
BRI "TH 631 0 297 0 334 0 286 -1
BRE=TH 524 -8 265 -3 259 -5 225 -2
BEEMTH 239 0 105 0 134 0 99 0
EEEATH 712 0 328 -1 384 1 353 1
Kt —TH 314 6 156 4 158 2 137 5
XK —TH 226 -3 111 -2 115 -1 90 -1
AFH—TH 128 -5 63 -2 65 -3 67 0
AFHZTH 10 0 5 0 5 0 5 0
AFH=TH 186 -3 94 -1 92 -2 85 -2
TEEIA—TH 669 -3 319 -1 350 -2 242 -2
TEsETFE T H 331 -2 154 -1 177 -1 128 -1
TEEAR=TH 394 3 212 3 182 0 151 3
TEEIFEM T B 498 -2 230 1 268 -3 207 -1
TEEAATH 626 -7 302 -4 324 -3 258 -2
TEEIPRNT B 361 3 191 2 170 1 171 1
TEsETFEE T H 645 -9 311 -6 334 -3 300 -3
TEEIFEA\TH 704 -3 340 1 364 -4 300 0
TERER—TH 1,466 -13 702 -3 764 -10 618 -4
THREERTTH 412 1 212 0 200 1 168 0
TEREIR=TH 686 0 332 0 354 0 283 0
TARETERMT B 1,143 4 555 5 588 -1 464 6
TEHREERATH 993 0 513 -2 480 2 505 -1
T2REERANT B 552 -7 279 -3 273 -4 303 -3
TEZRERETH 1,512 -3 773 -4 739 1 654 0
TARETERNTH 1,226 5 558 -2 668 7 575 4
TEREIRAT B 423 3 204 1 219 2 141 3
TEEIE—TH 87 -3 50 0 37 -3 71 0
TEEIEZTH 101 0 67 0 34 0 79 0
4N st 81,691 -57| 39,659 -40( 42,032 -17| 33,607 -16
AEH]E 107 -1 46 -1 61 0 68 -1
AEHTA 104 0 52 0 52 0 59 0
AEHERE 13 0 5 0 8 0 10 0
AREHT/NBR 115 1 53 1 62 0 51 0
AEHKH 9 0 5 0 4 0 6 0
AEHTEH 64 0 26 0 38 0 26 0
AEH R 10 0 5 0 5 0 7 0
AEHE /R 9 0 3 0 6 0 5 0
45 12 0 4 0 8 0 9 0
AEMIXEEST 443 0 IR 0 244 0 241 il
IN= 1 AVES] 35 0 18 0 17 0 22 0
IN= 1RO 38 0 17 0 21 0 27 0




IN= I E0) 38 0 17 0 21 0 23 0
[ SHTERES 30 0 11 0 19 0 19 0
[LERTEAR 59 0 28 0 31 0 33 0
[LSHETHH 24 -1 13 -1 11 0 16 0
NG9 26 0 17 0 9 0 17 0
[LEE/NFS 35 0 16 0 19 0 15 0
FEH] 36 0 21 0 15 0 23 0
[ S X &St 321 -1 158 -1 163 0 195 0
SUEERSET 764 -1 357 -1 407 0 436 -1
TR ET [ A _E 1,374 2 663 1 711 1 489 3
T2 X T ] EH 718 0 309 1 409 -1 227 0
&R R 1,260 5 603 2 657 3 421 2
e 2K T iz E P 1,048 0 521 0 527 0 371 0
e 1,363 0 669 0 694 0 459 2
e 1,152 -1 537 -3 615 2 422 0
TEIRET = AR 3,965 4 1,919 -2| 2,046 6| 1,425 2
TR X ERET 10,880 10[ 5,221 -1 5,659 11| 3,814 9
ERILIET_ESREESF 2,115 -2 995 2( 1,120 -4 700 3
ERILIE] RSB 2,631 -3] 1,308 o 1,323 -3 923 2
ERILIETER/)N I 2,034 -2l 1,019 Oof 1,015 -2 788 2
BRI BT PaR T 1,524 -1 752 -1 772 0 517 2
BRI LI BT iF 1,151 4 571 3 580 1 417 4
ERLLIET) 1R 2,256 1 1,112 1] 1,144 0 813 3
ERILETER YR T 5,510 20 2,631 0| 2,879 20 2,033 12
BRI [X &R 5T 17,221 17| 8,388 5 8,833 12| 6,191 28
a 5t 110,556 -31| 53,625 -37| 56,931 6| 44,048 20




